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к =
хпо варианту

хизмеренное

Задан размер х=85 мм.

хизм = 24 мм.

к =
хпо варианту

хизмеренное
=

85

24
= 3,54



𝑑изм.1 = 34 ⇒ 𝑑1 = 34 ∙ 𝟑, 𝟓𝟒 = 120,36 ⇒ 𝑑1 = 120 (мм)

𝑑изм.2 = 58 ⇒ 𝑑1 = 58 ∙ 𝟑, 𝟓𝟒 = 205,32 ⇒ 𝑑1 = 205 (мм)

𝑑изм.3 = 47 ⇒ 𝑑1 = 47 ∙ 𝟑, 𝟓𝟒 = 166,38 ⇒ 𝑑1 = 165 (мм)

𝑑изм.4 = 34 ⇒ 𝑑1 = 34 ∙ 𝟑, 𝟓𝟒 = 120,36 ⇒ 𝑑1 = 120 (мм)

𝑑изм.5 = 23 ⇒ 𝑑1 = 23 ∙ 𝟑, 𝟓𝟒 = 81,42 ⇒ 𝑑1 = 80 (мм)

𝑑1 = 𝑑4 - должны быть кратны 5



𝑙изм.1 = 198 ⇒ 𝑙1 = 198 ∙ 𝟑, 𝟓𝟒 = 700,92 ⇒ 𝑙1 = 710/670 (мм)

𝑙изм.2 = 22 ⇒ 𝑙2 = 22 ∙ 𝟑, 𝟓𝟒 = 77,88 ⇒ 𝑙2 = 80/75 (мм)

𝑙изм.3 = 58 ⇒ 𝑙3 = 58 ∙ 𝟑, 𝟓𝟒 = 205,32 ⇒ 𝑙3 = 210/200 (мм)

𝑙изм.4 = 54 ⇒ 𝑙4 = 54 ∙ 𝟑, 𝟓𝟒 = 191,16 ⇒ 𝑙4 = 190 (мм)

𝑙изм.5 = 51 ⇒ 𝑙5 = 51 ∙ 𝟑, 𝟓𝟒 = 180,54 ⇒ 𝑙5 = 180 (мм)

∆= 𝑙1 − 𝑙2 + 𝑙3 + 𝑙4 + 𝑙5 = 710 − 80 + 210 + 190 + 180 = 50 мм;

∆= 𝑙1 − 𝑙2 + 𝑙3 + 𝑙4 + 𝑙5 = 670 − 75 + 200 + 190 + 180 = 25 мм;

∆изм= 10 мм ⇒ ∆ = 35, 4 мм






















